
Subject: MATHS                                    22.06.2020 

Class 4 

Lesson: 4 (C) 

Dear students  

Today you are going to solve some words 

problem questions. To solve this types of 

questions you have to read questions first and 

understand whether it is adding or subtraction. 

So lets start.  

Q1.There are 29,435 bags of rice,49,233 bags of 

sugar in a godown. Find the total number of bags 

in godown?  

Solve:- Total bags of rice = 29,435 

             Total bags of sugar =49,233 

So total bags are in godown = 29,435+49233 

                                                   = 78668 bags  

 

Solve these questions.  



• There are 59,394 men 89,298  women and 

26,438  children respectively in a town. Find 

the total population of the town?  

• In an election, three candidates got 45,473 

and 57,442 and 52,294 votes respectively 

.How many votes were polled altogether?  

• A library has 29,198 boos in English,52,935 

books in hindi and 3,998 books in 

mathematics. How many books are there in 

altogether in the library?  

• Four rolls of wire measure 15,277 

meter,38,914 meters,43521 meters and 

19,394 metres respectively. Find the total 

length of wire in the four rolls?  

• Subtract the sum of 5,631 and 64,378 from 

75,35,671. 
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